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QUESTION 1

A solution developer encounters a problem while testing a message flow starting with the MQInput node and using the
XMLNSC domain. The solution developer added a trace node wired to the output terminal of the MQInput node to
display the contents of the data being passed.

Which value does the solution developer need to set for the trace pattern to display the entire message?

A. $ {Root}

B. $ {XMLNSC}

C. $ {InputRoot}

D. $ {InputRoot. XMLNSC }

Correct Answer: D

QUESTION 2

A solution developer needs to create a broker archive to deploy an application on an integration server. During this
process, the solution developer can add a flow as

A. mgsflowor.cmffile. The solution developer decides to use.mgsflow. Which node is allowed in the flow?
B. A user-defined node that is created from a subflow.

C. A user-defined node that is created from a Java implementation.

D. A WebSphere Message Broker Version 7.0 Mapping node.

E. A subflow node that represents a subflow that is defined in a.msgflowfile.

Correct Answer: A

QUESTION 3

A solution developer needs to developa generic message handler that is common to all applications and message flows.
The message handler parses a complex file than contains healthcare records and extracts Patient Eligibility requests.
The developer wants to make and deploy changes to the message handler without redeploying all the message flows.
How should the developer define the Integration Bus artifacts?

Define the message handler as:

A. a subflow in a library and define the message flows as services that reference the library.

B. a subflow in a library and define the message flows as applications that reference the library.

C. a subflow in a library and define the message flows as independent resources that reference the library.
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D. an integrationservice and define the message flows as applications that reference the integration service.

Correct Answer: D

QUESTION 4

The Integration Toolkit Adapter Connection wizard is used to create the resources that enable the WebSphere Adapters
to connect to:

A. a medical device.

B. IBM Business Monitor.

C. Microsoft Dynamics CRM.

D. PeopleSoft Enterprise Information System (EIS).

Correct Answer: D

QUESTION 5

A solution developer needs to implement a message flow to integrate with a Telecommunications Short Message
Service (SMS) serverwhich usesthe Simple Network Management Protocol (SNMP) over a socket layer. The message
flow starts with an MQinput node which accepts the XML input message that contains the SMS details. The message is
routed to a Compute node to compose the SNMP format as expected by the SMS service.

Which node should the developer use to send the SNMP data?

A. TCPIPClientOutput

B. TCPIPClientReceive

C. TCPIPServerOutput

D. TCPIPServerReceive

Correct Answer: C
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